Вариант 1

1. Упростите выражение (5a − 4)2 − (2a − 1)(3a + 7).
2. Разложите на множители: 1) 5x2y2 − 45y2c2; 2) 2x2 + 24xy + 72y2.

Вариант 2
1. Упростите выражение (3a − 2)2 − (3a + 1)(a + 5).
2. Разложите на множители: 1) 3m2n2 − 48m2p2; 2) 3x2 + 12xy + 12y2.

Вариант 3
1. Упростите выражение (4a + 3)2 − (2a + 1)(4a − 3).
2. Разложите на множители: 1) 7a2c2 − 28b2c2; 2) 5a2 − 30ab + 45b2.

Вариант 4
1. Упростите выражение (2b + 5)2 − (b − 3)(3b + 5).
2. Разложите на множители: 1) 6a2b2 − 600a2c2; 2) 7a2 − 28ab + 28b2.

